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User Defined Model For Feature Data

Aggregate Features Into Slices Rescale Slice Scores 0-1 Calculate Sample Scores

Feature 1 Feature 3Feature 2 Feature 4

Slice 1
Weight = 0.5

Slice 2
Weight = 0.2

Slice 3
Weight = 0.3

Slice 1 Slice 2 Slice 3

Sample 1

Sample 2

Sample 3

Slice 1 Slice 2 Slice 3

Sample 1

Sample 2

Sample 3

Slice 1 Slice 2 Slice 3 Score

Sample 2
Score = 0.95
Rank = 1/3

Sample 1
Score = 0.45
Rank = 2/3

Sample 3
Score = 0.25
Rank = 3/3

Sample 2:
• Highest overall outcome
• Highest Slice 1 association
• Moderate Slice 2 association
• Highest Slice 3 association
• Highest prioritized sample 

driven by all features

Sample 1:
• Moderate overall outcome
• Moderate Slice 1 association
• Highest Slice 2 association
• Lowest Slice 3 association
• Moderately prioritized sample 

driven largely by Slice 2 features

Sample 3:
• Lowest overall outcome
• Lowest Slice 1 association
• Lowest Slice 2 association
• High Slice 3 association
• Lowly prioritized sample, special 

concerns for Slice 3 features
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ToxPi Profile Layout
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Slice A
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ToxPi Profile Layout

Combination 1: 
3 Slices, 3 Knowns/Slice, 500 Samples, 2 Bins

Data Layout

Known Samples Unknown Samples

x 491

Total Samples

500+ =

Data Layout

Known Samples Unknown Samples

x 982 1000+ =

Combination 2: 
6 Slices, 3 Knowns/Slice, 1000 Samples, 3 Bins

3 x 3 6 x 3

Slices: Knowns/Slice: Total Samples: Bins: Underlying Data Distribution:

{3,6,9,12,15} {3,6,9,12,15} {500,1000,5000,10000} {2,3,4} {Normal, Gamma, Beta, Mixed}
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Gen 2 (F2)
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f = 0

Final w = {5, 30, 10, 35, 20}
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PAC Data ToxPi Profile

1-2 Rings
3 Rings
4 Rings
5 Rings
6 Rings
7+ Rings










